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Choose Default Integration Method as "modified trap"

--- D:\bsch\524B\CVAmp.asc ---

. - R2
Vmain S PLUS T.
0.8
R1
o
g
330 Rload
v S8 3 - R4 | c2 R12
— o 2 10
— 0.8 220u
22
R3
or 34V Vdrv Current Meter
330 Rcurm
Voneg
Vee 20m Not real value MINUS T.
IC V(Voneg)=0V | g +S
Vei2
2
2 R6 R8 R9
3340 4.7k 10k
({<]
I
o
&
Qs |
2N2222
10n CV set 0 to 2k
Q6 T
2N3904 : R11
< 1k |
S I
R13 D1
V6 V2 Q3 Q4 Vfb Start U
L0 2L 2N3904 2N3904 A et
= = Vcome o —R?N4148
16 12 1oo+51o§ 0
CV max trim 200 + 516 610,
R7 Re Vref 4
va
2.2k 2.7k ]
Tor
N . V5 V3
tran 20m % %
16 6.8
Vee Ve6r8



